HIMACHAL PRADESH BOARD OF SCHOOL EDUATION, DHARAMSHALA
Model Questions Paper

Subject : Accountancy(Full Syllabus) AGThT
Class : 10+2

Time : 3hrs Hindi and English version M.M.: 60
qre: 1. Jd o ifart 7|

All questions are compulsory.

2. UH U & FH AT B IR TP B I R o |
Attempt all parts of a question at one place.

3. Ul BT SR Sd GAT ST I AR U UF W TE T3 7, STRYRAHT W W & Uy
i foram arfard 2 |

You must indicate on your answer book the same question number as
appears in your question paper, while answering your questions.

Multiple choice questions Sgidehedia 92T

Q.1. (i) Receipts and payments account shows- FIfta Td HITATT GTT fe@rar g 12x1=12
(a) a debit balance ATAAY (b)a credit balanceSTHT Ay
(c) surplus or deficit 3TfeTharaT or HHT (d)capital fund tﬁﬁ' FIY
(i) Payment of honorarium to secretary is treated as-gfaa P ARICT Bl ITcATeT g
(a) Capital expense ‘i@ﬁ?'l?-r =0 (b) revenue expense 3TIITITT
(c) cash expense eIehg T (d) none of the above 3WRI&Fd & El"ﬂé' gt
(iii) Rate of interest on partners loan in the absence of partnership deed-ﬂ'@ﬂ'm ol &

379TTd H TEIERT & HOT & I If & §
(@ 7% (b) 9% (c) 6% (d) 5%
(iv) Recording of an unrecorded liability on the reconstitution of a partnership firm will be-

HHGRY BH & TelIoed W 3HfoifEd arfidcd 1 of@r S gl
(a) again to the existing partners ddHIel ET?IET{T HI ATH
(b) a loss to the existing partners dddTT ATSIGRIT &l gl

(c) neither again nor a loss to the existing partners

JAHATT TSGR I AT e AT gl
(d) none of the above3Widd & Eﬁl’é’ |

(v) if the new partner brings his share of goodwill in cash, it will be shared by old partners in
which ratio.

Ifg 7T WEER 39 fevd &1 ©AMfdererg # oar § df 38 QPAAGRi GanT
feh g 3fIUTaA STer Srean
(a) new profit sharing ratiommw
(b) sacrificing ratio <ITIT 34Tl
(c) gaining ratio TT Wit Aeg4rd
(d) old profit sharing ratio GTeIT T3 faerrsteT MGeIG]
(vi) Revaluation account is a —WW’QEF grar g
(a) Real account ATEATde @IAT (b) nominal account ATH HTF WITAT
(c) personal account SITFAIT WTAT (d) Capital account Q\Eﬁ rdr




Q.2.

Q.3.
Q.4.

(vii) The amount of shares issued to promoters for their services will be debited to-

Yddahien! 3oieh! HaT3l & dgol feu arw 37 1 ufer & sfac fewar smoen

(a) To Goodwill account &ITfd @I &r

(b) To promoters account ggde! & W@ T

(c) To profit and loss account olTeéY zrriFr LCIG RG]

(d)none of the above mﬁ@?ﬁé e
(viii) Shareholders get from the company =37 1At & st ¥ fHdar &

(a) interest =qToT (b) profit eTéT (c) dividend FATHT (d) commission SHHETRIT
(ix) Debenture holders are the- 0T 99 YRY gd §

(a)customer of the companyEFtIFﬁ F AEH

(d) owner of the company HUsiT & Hfcla

(c) manager of the company FUAT FAGHR

(d) creditors of the company FYAT & IGR

(x) Under which headings live stock’s is shown in the balance sheet-
aRIEre ST faaor & wufed 9at & fa five & 3iaera fe@re S g

(a)Investments fafaaner fafearer
(b) loan and advances F&OT dAT 3TITH
(c) miscellaneous expenditures fafasr caor
(d) fixed assets F?Il'é gufed

(xi) Stock turnover ratio is-Eeher3TTad 3leqrd g
(a) financial ratio facdra Aegard (b) activity ratio feramefrerar AeJ4rd
(c) solvency ratio 2MeeT &7FAT 3TIUTd (d) profit ability ratio elTHACTIShdT 3fe]dTcd

(xii)Cash flow from operating activity is —feTdT & T T a3t ¥ A3 Yarg giar %’
(a)cash receipts from debtors SeTeRt & =9t wifeq
(b)purchase of machinery 3T2fleRT &
(c) proceeds from long term borrowings GreiehTellel F0OT T wifcaar

(d) bank overdraft b 3iferfaey
PART-A
Mr. Ram is a partner in a form He draw RS. 3000 from the firm in the beginning of every month
interest on drawings is to be charged at the rate of 9% for annum calculate interest on drawings

for the year 2022. 2

A TH Ueh H A HFEIER & 93 A & IRH H 98 BF & 3000 I 30T
€ 3MeX0T W I 9% Ufday &l g3 & o@T ST § av 2022 & fov 3gIor «)
ST &1 0T HIfAT|

What is meant by donations? &Il & T tferorr g2 2
Is admission of a new partner meant reconstitution of partnership firm?

FIT AT FHGR & FIT § HGERT BH I YAITSeT gl 872 2




Q.5.

Q.6.
Q.7.
Q.s8.

Q..

Q.10.

Q.11.

Q.12.

Q.13.

Jitendra and Dharmendra are partners in a firm sharing profit and losses in the ratio of 4:3 the
admit Hema Malini in partnership for 1/5 share of profits calculate new profit sharing ratio.

fSrag 3R uag tF BF A AEIGR § S A @1 # 4:3% IgUd A died § 3egie
SHT HATfelell 3T ST &1 1/5MT Gl HISIGRT A ATTHS Y ol areiv omst fastrers
AT &l IMUTAT STl

What is share capital? 37T Q\Gﬂ' 1 Efl?—ﬁ %"7

What is meant deep discount Bond? 319 feEah3e dies T ?IT-T g?

N N DNDN

What is the difference between shares and debentures?

37 3R WOT A 7 AT IR §?
A firm earned a profit of Rs 50000 on the capital of RS./400000 normal rate of return is 12%
calculate the value of goodwill at 3 year purchase of super profit. 3

WW‘4000OOW@WSOOOOWWW%WWR 12% &
TRl Hed AUATH &1 3 a9 & FF § BH H TAMd 1 Hedishe Hial|
Distinguish between reserve capital and capital reserve. 3
gfad get d41 gEietd @99 # 3] Hifol|

On 31% March 2022 India limited redeemed rupees50000 ,12% debentures out of profits
journalise the transactions 3

31 AT 2022 &1 3371 fAfAcsavaus50000 & 12% FOT T51 T MUA AriHwT
TAT e fhdT S Tefud cgaeRt & wiafsar

From the following particulars prepare a Receipts and payment account of a club for the year
2022- cash balance first January 2022 Rs 4000, entry Fees received RS 400 ,subscription
received Rs 800, last years arrears Rs 80 ,rent paid Rs 1060 ,purchase of cricket balls Rs 525,
purchase of cricket bats Rs 580 miscellaneous expenses Rs 10 purchase of stationery Rs 5 and
salary paid Rs 1100

fereatifend T & a9 2022 & foIU Usherolaehl Wt U4 $ITcleT WIAT FellgU-
Uehs AY 1 Sefa’t 2022 4000 Ured g3 ,9A2w Yok 400, &1 g 800 faser
ay &1 80 ST , AT 7gar 1060, fohehe &l 16T 1 #7525 fohhe & dooll &

FI 580 37 fafaer cgg10 T @ 5 dd«7 faar 1100. 4
OR

What do you mean income and expenditure account ? Mention its main features.

AT AT T Wi ¥ &1 AU § TUT SHH1 A& faAVAT3T &1 qredr HIfre|

ABC limited issued 1000 shares of rupees 10 each to Ram at a premium of Rs 5 per share .Ram
had paid rupees 3 per share on application and Rs 8( including premium )on allotment but
could not pay rupees 2 on first call and rupees 2 on final call. The director forfeited his shares
and reissued to Jaggu as rupees 8 for fully paid. pass necessary journal entries

wadifafaes 7 10 arer 1000 3R HF 5 9fd 372 Nfagd w AfFa fee w7 =
3 9fd 3721 et W dUT 8(WiAIH Higd) 3aced W Yo faU fehq2 9udm  IrIelm
T 2 A AT W Al JepT U0 HATeTR! o 38 320 HT g0T a ferar  gar

ST9a] @l 8 9fd qur gevell & fgare & Ul qef: feerfAa & feu 3maeass NECIEE)
yfafesar sfaw) 4



Q.14. Ram Balram and Subham are partners in a firm , sharing profits and losses in the ratio of
3:2:1,Their balance sheet on 31° March 2021 was as follows- ITH TelRTH IR YHAA Tsh BH

H HISIGR §dg 3:2:1 o U H oo giiel HIST & § 5
Balance sheet
As on 31° March 2021

Equity and liabilities.

Creditors Rs 12600

Reserve fund 6000

Ram's capital Rs 10000

balram's capital 10000

Suman,s capital 10000

Total. 48600

Assets

Cash in hand 11600
Cash in hand 1000
Stock 7000

Debtor 9000

Plant& Machinery 6000
Building 14000

Total. 48600

On that date Suman retires from the firm and amount due to him is paid in cash. it is agreed to adjust
the values of assets as follows

1. to provide a reserve of 5% on debtors for doubtfull
2. to depreciate stock 5% and machinery by 10%
3. building to be revalued Rs. 15100

Show the revaluation account and the partners capital accounts and prepare the balance sheet of the
firm.

30 g a8 fafyr o gAw o sraeprer #gor A forar 38 47 fafy o wfer &1 $ardeT e |

foam arar I HeAld g5 1 wulcadl & #Fed A for FARSE fev S -

1. &feR W 5% #Higeyw ®u & forv 3maieer faar seen

2.  THY W 5% IR 7MR | 10% fagmae o@ms Srweft

3. HIeT 1 FHediehal 15100 foraT IT Geioedichsl WIAT AT WSIEGRT & Yol Wid aar
& H Tufa | 3w I=8U]

PART-B

Q.15. fmﬁmﬁa’@@l’qulaﬁﬁ&Q5aﬁqu$‘U | Describe important objectives of analysis of
financial statements. 2

Q.16. facd faavon & JelelcAs 3ETTT § 319 FAT FASTA & What do you mean by
comparative study of financial statements. 2

Q.17. V&S Ydig fgaRoT 9 & EF»’I% ar oy faf@w write any two advantages of preparing cash
flow statement. 2

Q.18. Quick ratio 1.5:1, current assets Rs.1 00000 current liabilities Rs. 40000 calculate the value of
stock ffer Heard 1.5:1 ﬂ'ﬂﬁm 100000 TUT dTe] arfaca 40000 g ar e
& Hed AT AT 3



Q.19.

From the following information prepare a cash flow statement Particulars- fo73<T H@IﬂTﬁ T
Uhg garg faawor IR ;S

(a)
(b)
(c)
(d)
(e)
(f)

Opening cash balance (R1#& T3 AW) Rs. 15000

Closing cash balance (3-i'f<_-|?=|' Uhs ?TEI') Rs.17000

Decrease in stock (¥&T & #AT) Rs. 8000

Increase in Bill's payable CRIEEEIRK:] q@') Rs.12000

Sale fixed assets (€218 Tufcaal & fasa) Rs. 30000

Repayment of long term loan (GTE3hTellel FUT <Rl $JTcTeT) Rs.50000

net profit for the year(aTfs&r &TH) Rs. 2000 3





